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1,100,000 *5CH 5,500
OoggE (CIV 34 NYEX 54
40,000, 000%14] 40,000
LHS CCTV Xl AS(EX) 193,000 180,000 13,000
[ 38,600
Al 154,400
401 Al HIZL 201 193,000 180,000 13,000
= 38,600
Al 154,400
01 Al&HI 193,000 180,000 13,000
OYHECCTVE XX AL 193,000
= 38,600
Al 154,400
O=ggs v X 368,500 202,500 166,000
201 fet=3| 15,000 0 15,000
02 s3=gHl 15,000 0 15,000
Otrsg¢gE 0V sAl2el 10,000
Otrsg¢gE v &JIe=s 5,000
401 Al HIZL 201 363,500 363,500
01 Al&H| 351,124 351,124
Ol0r=¢dgE 0V =t & == WAl
6,600,000 *507H 2=*99. 28% 327,624
Osss 022y & vV M & &X(=2
010l &) 23,500
03 Al 20HHI 2,376 0 2,376
OltSgHE OV =t & == WA
6,600,000 *507H 2=+0.72% 2,376
OS2 & v dXI(2X) 10,000 0 10,000
= 10,000
401 Al HIZL S 0HYI 10,000 0 10,000
& 10,000
01 AlZ8| 10,000 0 10,000
O0l# Ms DISYYE TV EX(NF LS
FOIZO0 &) 5,000
< 5,000
O0l8 Al DISYHEE CCTV EX(XFLAE
FOIZ00 &) 5,000
== 5,000
M2t M A= E 165,900 0 165,900
SCHAHOH ol &t 165,900 0 165,900
SO HOH Ol AL 165,900 0 165,900
201 =3 42,900 0 42,900
01 At2t2lt] 42,900 0 42,900
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01 =LHOHI 3,000 3,000
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207 ARl 70,000 70,000
01 ARSI 70,000 70,000
OSUMiMEeE s 24E & ASEE
Jt 70,000,000& *14] 70,000
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
OdgtddEd & 2=
10,000,000 *59H 2~ 50,000
HH2LZHI(LTTHLD) 48,960 47,710 1,250
Jl=23HI(HETH 48,960 47,710 1,250
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o=l 5,500
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01 =LHO LI 22,860 21,660 1,200
OtE Y HRFA 22,860
203 HR=H] 4,200 3,600 600
04 A2 LRFAI 4,200 3,600 600
ORNEgE =AY 4,200
WS (ML) 633,590 582,417 51,173
SHAHX S 633,590 582,417 51,173
HEHHXIE 633,590 582,417 51,173
RISHES 633,590 582,417 51,173
UIPIETSE— 633,590 582,417 51,173
OXtt2edi= 633,590
HYENES 435,590
- AMBIRES 198,000
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